BHIF AYVSR ouT IN GROSS  HDCP NET
B B [fE I 44] 38 82| 11.0 71.0
B 1R K 4340 | 83 12.0 71.0
3 Bl B 03 78 7.0 71.0
MG IR g 5341 84 12.0 72.0
o BRIE N E 3740 | 71 5.0 72.0
6 TE B 42| 40 82, 9.0 73.0
160 RE MR 44 42 | 86| 12.00 74.0
8 B B 43 42 85 11.0] 74.0
OiL xBr IERE 40 42 820 8.0 74.0
_________ 102 #HE AR 44 41 | 85 10.0 75.0
116 BN RF— 43 41 84 9.0 75.0
1260 #2F Bh=E 43| 42 86 9.0 /6.0
13 RE BE= 41| 42 83 7.0 76.0
1460 fEll SRR 39| 36 75 -2.0 71.0
1540 & Hﬁ,i 45 42 87 10.0 7/.0




B BYSR ouT IN GROSS  HDCP NET

= B /MHE O EUE 44] 41 85 17.0 68.0
EEEF IH B 52149, 1011 31.0 70.0
M A FE 44 45 " 89 19.0 70.0
4 B BE 40| 43 83 13.0 70.0
oL AH fEZ 12 46 88 16.0 72.0
6fi |IR E— 43 48 911 19.0 72.0
il 'FF R 44 49 93] 21.0 72.0
8 EER B 4840 88 15.0 73.0
Ofi |JIf% EfE 1145/ | 86 13.0 73.0
O BEEH [EJE 46/ 42/ | 88 14.0] 74.0
116 BT B— 45 42/ | 87] 13.0 74.0
1260 EHBH M2 51 50 101 27.0 74.0
13 & &+ 49 49 98 24.0 74.0
1450 KH FO4E 46 44 | 90 15.0 75.0
56 A0 B2 147 91 16.0 75.0




A LTas—ADE ouT IN GROSS  HDCP NET

g B =B Ex 47 45 921 24.0] 68.0

Bl =H Fh o 3937 | 76 6.0 70.0
ML =g TR 47741 | 88 16.0 72.0
M K& SBY 41390 80/ 6.0 74.0
ofii RN EIT 47 46 93] 19.0 74.0
64 ™ FEe 3840 | 78 3.0 75.0
i BiF bEHh 4639 | 85 9.0 76.0
i A IHY 45 43 88 11.0/ 77.0
O EE EE la1 40 81 4.0 77.0
1060 $Ell #F 4554 | 99 22.00 77.0
1 HFIE 3B+ 4844 | 92, 13.0 79.0
1243 |7K 3 = 48| 45 93 11.0, 82.0
13 &/l EF 45 48) 93 11.0 82.0
1460 FitiE —XK 57 52/ 109 26.0/ 83.0
156 A E=F 48 45 93 10.0 83.0




